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A relation is defined by the following points: {(—2,8), (3,3), (5,6), (—1,8), (3,12), (—2,13)}

la. [3 marks] Draw a mapping diagram for this relation.

1b. [2 marks] State the range of this relation.

1c. [1 mark] Find the value of y when x = 5.

1d. [2 marks] Mr. Smith decides that this relation is NOT a function. He explains that the output
value of 8 results from two different input values of — 1 and — 2. Is Mr. Smith correct? Explain

why or why not.




The graph of the function y = g(x) is given. use the graph to answer the following questions.
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2a. [2 marks] Find y = g(—2)

2b. [3 marks] Write the domain of y = g(x) and use set notation when giving your answer.

2c. [2 marks] For what value of x is g(x) =—47?

2d. [2 marks] For what values of x is g(x) =27

2e. [2 marks] Mr. Smith is going to add a point to the graph of this function so that the resulting
relation will no longer be a function. Explain where he can add a point.



You are given a linear function: f(x) =9 — 3x.

3a. [3 marks] If the domain of the functionis {x € R| —1 <x <4} determine the range, write
your answer in set notation..

3b. [3 marks] Based on the domain and range from part a, sketch this function on the graph below
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3c. [3 marks] If f(x) =9 —3x and f(B) = 3, what is the value of B?

3d. [2 marks] If the domain of f(x) =9 —3x was changedto {— 1, 0, 1, 2, 3} what would the new
range be?



